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Matching exercise - answers 

MSS1/E3.7 
MSS1/E3.8 

Did you match the correct container to the correct capacity? 

 

Container Capacity 

teaspoon 5 ml five millilitres 

tablespoon 15 ml 3 teaspoons 

small wine glass 175 ml 100 + 75 ml 

can of fizzy drink 330 ml between 300-400 ml 

bottle of water 500 ml 0.5 litre 

bottle of wine 750 ml 0.75 of a litre 

carton of juice 1 000 ml 2 bottles of water 

bottle of coke 2 litres 2 cartons of juice 

bucket 19 litres nineteen litres 

petrol tank 74 litres between 70-100 L 

water butt 100 L 10 × 10 litres 

swimming pool 300 000 litres 300 thousand litres 

 


